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Exercise

1. What is the common zero of the polynomial

22+ 1,22 —landa? + 22 + 17

.


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_LfXpSZXbetKa

| o Vvvatch vVideo Solution |

2.1f p,2p - 1,2p + 1are three consecutive terms of

an AP, then what is the value of p ?

° Watch Video Solution

3.In which quadrant does the point (-1,-2) lie?

o Watch Video Solution



https://dl.doubtnut.com/l/_LfXpSZXbetKa
https://dl.doubtnut.com/l/_ycSFbPUUTDnZ
https://dl.doubtnut.com/l/_gJVIXuNCsjyo

4. The perimeter of a tringle with vertices (0,4),

(0,0) and (3,0) is

° Watch Video Solution

5. If radii of two concentric circles are 4 cm and 5
cm, then length of each chord of one circle which

is tangent to the other circle, is

° Watch Video Solution

6. Find the value of 1/cos ec?45° — cot? 45°


https://dl.doubtnut.com/l/_fdjKvSv2u4kB
https://dl.doubtnut.com/l/_qRnikUbq2MzI
https://dl.doubtnut.com/l/_bLNGTNEchCGV

o Watch Video Solution

7. If tanxz = sin45°cos45° + sin30° then x is

equal to

o Watch Video Solution

8. What is the area of a circle inscribed in a

square of side 'a' units?

° Watch Video Solution



https://dl.doubtnut.com/l/_bLNGTNEchCGV
https://dl.doubtnut.com/l/_Adwki6jcccad
https://dl.doubtnut.com/l/_fv5G6E1y1Zbc

9. A car travels 0.99 km in which each wheel makes
450 complete revolutions. Find radius of the

wheel.

o Watch Video Solution

10. A number from 11 to 30 was chosen at
random. Find the probability of this chosen

number being a multiple of 2.

o Watch Video Solution



https://dl.doubtnut.com/l/_cSMcE3IEuFin
https://dl.doubtnut.com/l/_JS75azqElaWq

M. If « and B are the zeros of the polynomial

p(w) — 33‘2 — P + q,

1 1
then find the value of — + —

a p

o Watch Video Solution

12. Find the sum of first 20 even numbers.

° Watch Video Solution

13. Find the discriminant of the quadratic

equation (p+3)z2?—(5—p)z+1=0 and


https://dl.doubtnut.com/l/_x7kg3xcojAQk
https://dl.doubtnut.com/l/_gq4adpVrOv4B
https://dl.doubtnut.com/l/_QNFRUZI661Mb

hence determine the value of p for which the

roots are real and distinct.

o Watch Video Solution

14.In ABC, DE is parallel to base BC', with D

AD 2 BC
onABandEonAC.Ifﬁ = §,ﬁndﬁ

o Watch Video Solution

15. In a frequency distrubution, what does ogive

help in calculating?

| a WAL _ L vl ~_ ..


https://dl.doubtnut.com/l/_QNFRUZI661Mb
https://dl.doubtnut.com/l/_qV49RK44zSIP
https://dl.doubtnut.com/l/_3kkHIecZ327F

{ ™ Vvvallil viaco o0IUutLiorl ]

16. Find the 8 term from the end of the A.P.

~12, -7, —2,...,68

° Watch Video Solution

17. State SA.S similarity criterion.

° Watch Video Solution



https://dl.doubtnut.com/l/_3kkHIecZ327F
https://dl.doubtnut.com/l/_axsW7hud2XS8
https://dl.doubtnut.com/l/_GS2bKi5u4iUf

18. Mr. Naik is a paramilitary Intelligence Corps
officer who is tasked with planning a coup on the
enemy at a certain date. Currently he is
inspecting the area standing on top of the cliff.
Agent Vinod is on a hot air ballon in the sky.
When Mr. Naik looks down below the cliff towards
the sea, he has Ajay and Maran in boats
positioned to get a good vantage point.

The main goal is to scope out the range and
angles at which they should train their soldiers.
Ajay's boat is 25 m away from the base of the cliff.

If < d=30°. What is the height of the cliff?


https://dl.doubtnut.com/l/_OELVoaWqYguG

(use /3 = 1.73)

A 175,

B.12.26 m

C.14.45m

D.154m

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_OELVoaWqYguG

19. Mr. Naik is a paramilitary Intelligence Corps
officer who is tasked with planning a coup on the
enemy at a certain date. Currently he is
inspecting the area standing on top of the cliff.
Agent Vinod is on a hot air ballon in the sky.
When Mr. Naik looks down below the cliff towards
the sea, he has Ajay and Maran in boats
positioned to get a good vantage point.

The main goal is to scope out the range and
angles at which they should train their soldiers.

If the height of the cliff is 30m, < ¢ = 45° and

< d = 30°, distance between the two boats is


https://dl.doubtnut.com/l/_dvaw4j2pXgV4

C.11.2m

D.219m

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_dvaw4j2pXgV4

20. To celebrate Diwali festival among senior
citizens of an old home, four friends of a society,
Rohan, Amar, Saran and Madhukar decided to
pool some money to gift packs to every old
man/woman staying in the neighbouring old-age
home. They pooled money in theratio 2:3:4: 5.
With the pooled money of Rs.3500, they start
preparing gift packs. In the preparation of one
gift pack, Rohan, Amar, Saran and Madhukar
spend 7, 6, 8 and 9 minutes respectively.

On the basis of the above information, answer

any four of the following questions:


https://dl.doubtnut.com/l/_sqydB3plCPAV

How much amount was pooled by Saran?

{ e et R

Kohan's Brnoi's E.grg_n 5 r-.-h..d}ﬂ.lkurs
fonel ioney honey

A. Rs 500

B.Rs 750

C. Rs 1000

D.Rs 1250

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_sqydB3plCPAV

21. To celebrate Diwali festival among senior
citizens of an old home, four friends of a society,
Rohan, Amar, Saran and Madhukar decided to
pool some money to gift packs to every old
man/woman staying in the neighbouring old-age
home. They pooled money in theratio 2:3:4: 5.
With the pooled money of Rs.3500, they start
preparing gift packs. In the preparation of one
gift pack, Rohan, Amar, Saran and Madhukar
spend 7, 6, 8 and 9 minutes respectively.

On the basis of the above information, answer
any four of the following questions:

How much time (in minutes) was spent on one


https://dl.doubtnut.com/l/_YmbeFCGVXKX6

(o] o) [ind

Fahan's Arnar's 5.|:|nz|,|- 5 fuls |,J|‘:L|l:|:|rs
rdonal betoney hAorey

A. 20
B. 25
C.30

D. 40

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_YmbeFCGVXKX6

22. To celebrate Diwali festival among senior
citizens of an old home, four friends of a society,
Rohan, Amar, Saran and Madhukar decided to
pool some money to gift packs to every old
man/woman staying in the neighbouring old-age
home. They pooled money in theratio 2:3:4: 5.
With the pooled money of Rs.3500, they start
preparing gift packs. In the preparation of one
gift pack, Rohan, Amar, Saran and Madhukar
spend 7, 6, 8 and 9 minutes respectively.

On the basis of the above information, answer
any four of the following questions:

If each gift costs to them Rs.70, how many senior


https://dl.doubtnut.com/l/_1u1qUtI2HsA7

citizens were given the cards ?

e i

E'_I:Ihlll = ':f“l'":"'!.i 543[@1- 5 foles I_JI‘J‘.IL:I:IFS
rdonall betomney FAorEY

A.35

B. 50

C.54

D. 60

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_1u1qUtI2HsA7

23. To celebrate Diwali festival among senior
citizens of an old home, four friends of a society,
Rohan, Amar, Saran and Madhukar decided to
pool some money to gift packs to every old
man/woman staying in the neighbouring old-age
home. They pooled money in theratio 2:3:4: 5.
With the pooled money of Rs.3500, they start
preparing gift packs. In the preparation of one
gift pack, Rohan, Amar, Saran and Madhukar
spend 7, 6, 8 and 9 minutes respectively.

On the basis of the above information, answer
any four of the following questions:

How much amount was pooled by Rohan and


https://dl.doubtnut.com/l/_WUSDkgLxgCsU

Madhukar together for giving the gifts?

it

Fohan's Arnor's ,\_1,|'-||_-':|,| 5 1% P | S s
idomal) betoney RAOrEY

A. Rs 1856

B.Rs 1750

C.Rs 1623

D.Rs 2150

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_WUSDkgLxgCsU
https://dl.doubtnut.com/l/_gzF3KVAoqoG1

24. Thermas Housewares Co. Ltd is one of the
leading brands in the field of vacuum flask. They
are producing a new high-quality heat
preservation flask series and the below figure
shows the cross - section of the interior part of a
new concept thermos flask.

The top part is a trapezium, the middle part is a

rectangle and the bottom part is a semi-circle

P .

T



https://dl.doubtnut.com/l/_gzF3KVAoqoG1
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The dimension of various parts are:
CE=20cm,BC=25cm, AB=GF =13 cm, AG =10
cm and AN =12 cm

The perimeter of the trapezium part of the cross

section, is


https://dl.doubtnut.com/l/_gzF3KVAoqoG1

A.36 cm

B.56 cm

C.30cm

D.46 cm

Answer:

° Watch Video Solution

25. Thermas Housewares Co. Ltd is one of the
leading brands in the field of vacuum flask. They

are producing a new high-quality heat


https://dl.doubtnut.com/l/_gzF3KVAoqoG1
https://dl.doubtnut.com/l/_HUC3eTp8gBoi

preservation flask series and the below figure
shows the cross - section of the interior part of a
new concept thermos flask.

The top part is a trapezium, the middle part is a

rectangle and the bottom part is a semi-circle

B



https://dl.doubtnut.com/l/_HUC3eTp8gBoi
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The dimension of various parts are:

CE =20 cm,BC=25cm, AB =GF =13 cm, AG =10
cm and AN =12 cm

The perimeter of the rectangular part of the

cross section, is


https://dl.doubtnut.com/l/_HUC3eTp8gBoi

A.90 cm

B.70 cm

C.50 cm

D.40 cm

Answer:

° Watch Video Solution

26. The figure shows the cross-section of the

interior of thermos flask.


https://dl.doubtnut.com/l/_HUC3eTp8gBoi
https://dl.doubtnut.com/l/_ECrLFz74gMTM
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The top part is a trapezium , the middle part is a
rectangle and the bottom part is a semicircle if
CE=20cm,BC=25cm,AB=GF =13 cm,AG =10
cm and AN =12 cm , the find :

The perimeter of the cross-section

A. 83 cm


https://dl.doubtnut.com/l/_ECrLFz74gMTM

B. 86 cm

C.1174 cm

D.130.4 cm

Answer:

° Watch Video Solution

27. Without actually performing the long division,

11725

write the decimal expansion of ———
2° x5

o Watch Video Solution



https://dl.doubtnut.com/l/_ECrLFz74gMTM
https://dl.doubtnut.com/l/_mQnr5GsS3Bpz
https://dl.doubtnut.com/l/_0x7XZSgG1WOM

28. Show that 3 + /6 is an irrational number,

assuming that /5 is an irrational number.

o Watch Video Solution

29. Solve algebraically: 4 + 3y = 14 and 3x - 4y =

23.

° Watch Video Solution

30. Evaluate:

(sin*60° + sec* 30°) — 2(cos*45° — sin®90°)



https://dl.doubtnut.com/l/_0x7XZSgG1WOM
https://dl.doubtnut.com/l/_E1js9ETiODOP
https://dl.doubtnut.com/l/_7YauONvmToNm

| QY Watch Video Solution

inf — 2sin® 0
31. Prove that S S = tan@
2cos3 @ — cos

o Watch Video Solution

32. A die is thrown twice. Find the probability
that:

5 will not come up either time

o Watch Video Solution



https://dl.doubtnut.com/l/_7YauONvmToNm
https://dl.doubtnut.com/l/_H2enOLKFQFP6
https://dl.doubtnut.com/l/_MTsoZXYKRFoo

33. Find a point on x - axis which is equidistant

from A (-3, 4) and B(7, 6).

° Watch Video Solution

34. If the circumference of a circle increases from
47 to 8w, then find the percentage increase in the

area of the circle.

° Watch Video Solution



https://dl.doubtnut.com/l/_dX2dzyVFdmXf
https://dl.doubtnut.com/l/_g2rWE5OJvpvP

35. The sum of the squares of two consecutive

multiples of 7 is 637. Find the multiples.

° Watch Video Solution

36. The figure drawn on the graph paper shows a

AABC with vertices A (-4, 1) B(-4, 6) and C (8, 1).


https://dl.doubtnut.com/l/_v2HyzPfReX6H
https://dl.doubtnut.com/l/_2FMxjfldIOOq

Find the length of BC,

1|k

it

o Watch Video Solution

37.The figure drawn on the graph paper shows a

AABC with vertices A (-4, 1) B(-4, 6) and C (8, 1).


https://dl.doubtnut.com/l/_2FMxjfldIOOq
https://dl.doubtnut.com/l/_JgNGqOMFDVoF
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o Watch Video Solution

38. The figure drawn on the graph paper shows a

AABC with vertices A (-4, 1) B(-4, 6) and C (8, 1).


https://dl.doubtnut.com/l/_JgNGqOMFDVoF
https://dl.doubtnut.com/l/_jBuhlxOvMqNc

Find cos C
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o Watch Video Solution

39. Prove that the length of the tangents drawn

from an external point to a circle are equal.

o Watch Video Solution



https://dl.doubtnut.com/l/_jBuhlxOvMqNc
https://dl.doubtnut.com/l/_ECtLSN2x7CUo

40. Two spotlights, P and Q are mounted on a
vertical pole AB as shown.

Light beams from P and Q shine to two points on
the ground, H and K, respectively. Given that PQ =
16m, KB = 16m, PH = 35m and QK = 20m, Find:

HK, the distance between the projections of the

light beams.

o Watch Video Solution

41. The minute hand of a clock is 2 cm long. Find

the area of the face of the clock described by the


https://dl.doubtnut.com/l/_xJBb79VWexbp
https://dl.doubtnut.com/l/_B7FEQ1Z9xvKG

minute hand between 7 am and 7 : 15 am.

° Watch Video Solution

42.Two spheres of same metal weight 1 Kg and 7
Kg. The radius of the smaller sphere is 3 cm. The
two spheres are melted to form a single big

sphere. Find the diameter of the new sphere.

O Watch Video Solution

43. A bag contains 15 white balls and some black

balls. If the probability of drawing a black ball is


https://dl.doubtnut.com/l/_B7FEQ1Z9xvKG
https://dl.doubtnut.com/l/_nbMJXrtPtg6D
https://dl.doubtnut.com/l/_TRerXvg36VQy

thrice that of a white ball, find the number of

black balls in the bag.

° Watch Video Solution

44. Two men on either sideof a 75 m high
building and in line with base of buildig observe
the angle of elevation of the top of the building
as 30° and 60°. Find the distance between the

two men. (Use /3 = 1.73)

o Watch Video Solution



https://dl.doubtnut.com/l/_TRerXvg36VQy
https://dl.doubtnut.com/l/_97SSQHujLahR

45, In the given figure, PA, QB and RC each is
perpendicular to AC such that

PA=z, RC=vy,QB =2 AB =a, and BC' =1}

1 1 1
Prove that — + — = —
r Yy Oz
P
R
x| Q
Y

° Watch Video Solution



https://dl.doubtnut.com/l/_GWcW6jHM3tCg

46. Using factorisation, find the HCF of 36 and 54.

o Watch Video Solution

47. Write a rational number and an irrational

number between 1 and 2.

° Watch Video Solution

48. Find the zeros of the polynomial p(x) =

2 — 7+ 6

‘ o Watch Video Solution


https://dl.doubtnut.com/l/_KCHnHMSHEDbd
https://dl.doubtnut.com/l/_1IwfbW14r4HX
https://dl.doubtnut.com/l/_R5kte6Nm1ntq

49. Find the discrimination of thequadratic

equation z? — 4z +1 =0

o Watch Video Solution

50. Which term of the A.P. 49,14 is 2547

o Watch Video Solution

51. Find the sum of the first 20 natural numbers.

.Y I


https://dl.doubtnut.com/l/_R5kte6Nm1ntq
https://dl.doubtnut.com/l/_nQypAfWv9qYH
https://dl.doubtnut.com/l/_1QmHA2UQcpJ2
https://dl.doubtnut.com/l/_w8EM41zvKn76

| ¥ Vvvatcn Vidaeo >olution )

52.Find the centroid of AABC, where A(-4, 6), B(2,

-2) and C(2, 5)

o Watch Video Solution

53. A man goes 15 m due west and then 8 m due

north. How far is he from the starting point?

o Watch Video Solution



https://dl.doubtnut.com/l/_w8EM41zvKn76
https://dl.doubtnut.com/l/_DTVWLmZa6I4v
https://dl.doubtnut.com/l/_1EQyLsvC8vOY

54.Prove that 4tan’ A — 4sec? A = — 4

o Watch Video Solution

3 .
55.If tan A = 1 , find the value of sin A.

o Watch Video Solution

56. If the perimeter of a semi-circular protractor is
36 cm, then its diameter is (a) 10 cm (b) 12 cm (c)

14 cm (d) 16 cm

‘ o Watch Video Solution


https://dl.doubtnut.com/l/_lWQWZjqU7h8S
https://dl.doubtnut.com/l/_xhb7IuTtCJxP
https://dl.doubtnut.com/l/_Ew3AcY9Pj57R

57. The chord of a circle of radius 10cm subtends
a right angle at its centre. The length of the

chord (in cm) is

° Watch Video Solution

58. A box contains 20 balls bearing numbers - 1,
2,3,4,..,20.

A ball is drawn at random from the box. What is
the probability that the number on the ball is

divisible by 7?



https://dl.doubtnut.com/l/_Ew3AcY9Pj57R
https://dl.doubtnut.com/l/_8z4dv1i0DXKh
https://dl.doubtnut.com/l/_Wtd97N2Bpg8h

o Watch Video Solution

59. Mean of twenty observations is 15. If two
observations 3 and 14 replaced by 8 and 9

respectively, then the new mean will be

° Watch Video Solution

60. If the mean and mode of a discrete data is 6

and 9, find the median of the data.

o Watch Video Solution



https://dl.doubtnut.com/l/_Wtd97N2Bpg8h
https://dl.doubtnut.com/l/_MUuBZtVQGrys
https://dl.doubtnut.com/l/_1kLscOboKK1C

61. Write the number of zeros for a polynomial

p(x) whose graph is given in the figure.

Y
|--f""}

o\

o Watch Video Solution



https://dl.doubtnut.com/l/_YWozmpleAFqL

62. Write a pair of linear equations which has the

unique solutionz = — 1,y =3

° Watch Video Solution

63. The quadratic equation 2z% + pz + 3 = 0 has

two equal roots. Find the value of p.

o Watch Video Solution

64. Construct a tangent to a circle of radius 4cm

from a point which is at a distance of 6 cm from


https://dl.doubtnut.com/l/_7U6tuJDqQKv2
https://dl.doubtnut.com/l/_vRUsHwvHURwh
https://dl.doubtnut.com/l/_EfcRSXTdj0Rj

its centre.

° Watch Video Solution

65. The perimeters of two similar triangles are 30
cm and 20 cm respectively. If one side of the first
triangle is 9 cm long, find the length of the

corresponding side of the second triangle.

° Watch Video Solution

66. In a circle of radius 7 cm, tangent PT is drawn

from a point P such that PT=24 cm.f O is the


https://dl.doubtnut.com/l/_EfcRSXTdj0Rj
https://dl.doubtnut.com/l/_qUwVaJH6cASJ
https://dl.doubtnut.com/l/_pUJ4FxVUhoWH

center of circle then length OP=?

° Watch Video Solution

67. Jawaharlal Nehru Stadium in New Delhi is
conducting the annual sports competition soon.
The curator of the stadium is tasked with
preparing the grounds for various sports as per
the technical requirements of sports invigilator.

The engineer assigned to assist the curator is
tasked with figuring out the dimensions for
carving out some areas allotted for a 'hockey

court' and a 'javelin range', as shown in the figure


https://dl.doubtnut.com/l/_pUJ4FxVUhoWH
https://dl.doubtnut.com/l/_mH24ksN8lpcA

Jawelin Reenigye

= Higciey Court

The shapes of the 'hockey court' and the 'javelin

range' are square and triangle respectively. Both


https://dl.doubtnut.com/l/_mH24ksN8lpcA

of the courts have a common edge that touches
the centre of stadium. The construction of the
javelin range is such that the angle to centre is

90°. The radius of the stadium is 200 metres.

The area (in sq m) allotted to 'javelin" range' is

A. 11400

B. 20000

C. 31400

D. 40000

Answer:



https://dl.doubtnut.com/l/_mH24ksN8lpcA

| &J Watch Video Solution

68. Jawaharlal Nehru Stadium in New Delhi is
conducting the annual sports competition soon.
The curator of the stadium is tasked with
preparing the grounds for various sports as per
the technical requirements of sports invigilator.

The engineer assigned to assist the curator is
tasked with figuring out the dimensions for
carving out some areas allotted for a 'hockey
court' and a 'javelin range', as shown in the figure

below.


https://dl.doubtnut.com/l/_mH24ksN8lpcA
https://dl.doubtnut.com/l/_42OxTILtjK4w

Jawrliny Reenge -

The shapes of the 'hockey court' and the ‘javelin
range' are square and triangle respectively. Both

of the courts have a common edge that touches


https://dl.doubtnut.com/l/_42OxTILtjK4w

the centre of stadium. The construction of the
javelin range is such that the angle to centre is

90°. The radius of the stadium is 200 metres.

The area (in sq m) allotted to 'javelin" range' is

A. 11400

B. 20000

C. 31400

D. 40000

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_42OxTILtjK4w

69. Jawaharlal Nehru Stadium in New Delhi is
conducting the annual sports competition soon.
The curator of the stadium is tasked with
preparing the grounds for various sports as per
the technical requirements of sports invigilator.

The engineer assigned to assist the curator is
tasked with figuring out the dimensions for
carving out some areas allotted for a 'hockey
court' and a 'javelin range', as shown in the figure

below.


https://dl.doubtnut.com/l/_42OxTILtjK4w
https://dl.doubtnut.com/l/_VGSQ2MzPoNQ6
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The shapes of the 'hockey court' and the 'javelin
range' are square and triangle respectively. Both

of the courts have a common edge that touches


https://dl.doubtnut.com/l/_VGSQ2MzPoNQ6

the centre of stadium. The construction of the
javelin range is such that the angle to centre is

90°. The radius of the stadium is 200 metres.

If the team of the curators managing the
stadium, likes to allot space for some more
sports, how much area (in sq m) is available to
them?

A. 1,25,600

B. 1,05,600

C. 85600

D. 58600


https://dl.doubtnut.com/l/_VGSQ2MzPoNQ6

Answer:

° Watch Video Solution

70. Jawaharlal Nehru Stadium in New Delhi is
conducting the annual sports competition soon.
The curator of the stadium is tasked with
preparing the grounds for various sports as per
the technical requirements of sports invigilator.

The engineer assigned to assist the curator is
tasked with figuring out the dimensions for
carving out some areas allotted for a 'hockey

court' and a 'javelin range', as shown in the figure


https://dl.doubtnut.com/l/_VGSQ2MzPoNQ6
https://dl.doubtnut.com/l/_3PRbJfdBuEas
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The shapes of the 'hockey court' and the ‘javelin

range' are square and triangle respectively. Both


https://dl.doubtnut.com/l/_3PRbJfdBuEas

of the courts have a common edge that touches
the centre of stadium. The construction of the
javelin range is such that the angle to centre is

90°. The radius of the stadium is 200 metres.

If the boundaries of the hockey court and javelin
range are to be fenced, then the total length (in

m) of the fence required is

A.100(2 + 3+/2)
B.100(2 + 5+/2)
C.200(2 + 5+/2)

D. 200(2 + 3+/2)


https://dl.doubtnut.com/l/_3PRbJfdBuEas

Answer:

° Watch Video Solution

71. Jawaharlal Nehru Stadium in New Delhi is
conducting the annual sports competition soon.
The curator of the stadium is tasked with
preparing the grounds for various sports as per
the technical requirements of sports invigilator.

The engineer assigned to assist the curator is
tasked with figuring out the dimensions for
carving out some areas allotted for a 'hockey

court' and a 'javelin range', as shown in the figure


https://dl.doubtnut.com/l/_3PRbJfdBuEas
https://dl.doubtnut.com/l/_j6HNskPmgaGl

Jawelin Reriga -

~— Higcikey Court

The shapes of the 'hockey court' and the 'javelin

range' are square and triangle respectively. Both


https://dl.doubtnut.com/l/_j6HNskPmgaGl

of the courts have a common edge that touches
the centre of stadium. The construction of the
javelin range is such that the angle to centre is

90°. The radius of the stadium is 200 metres.

If the cost of fencing is Rs 12 per metre, then the

total cost of fencing is

A.1200(2 + 3/2)
B.1200(2 + 5/2)
C. 2400(2 + 5+/2)

D. 2400(2 + 3/2)


https://dl.doubtnut.com/l/_j6HNskPmgaGl

Answer:

o Watch Video Solution

72. A game at a stall in Diwali fare involves using a
spinner first as a pre-cursor to complete the
game with certain rules. If the spinner stops at a
particular number, then the player is allowed to

roll a 6. faced unbiased die,


https://dl.doubtnut.com/l/_j6HNskPmgaGl
https://dl.doubtnut.com/l/_xr5kP18MTUkN

What is the probability of getting an odd number

on the spinner?

>
N = | =


https://dl.doubtnut.com/l/_xr5kP18MTUkN

Answer:

° Watch Video Solution

73. A game at a stall in Diwali fare involves using a
spinner first as a pre-cursor to complete the
game with certain rules. If the spinner stops at a
particular number, then the player is allowed to

roll a 6. faced unbiased die,


https://dl.doubtnut.com/l/_xr5kP18MTUkN
https://dl.doubtnut.com/l/_LYYhFoyHls3P

If getting an even number on the spinner allows a
player to roll the die, then the probability of his

rolling the die is

%
|~ N~ R


https://dl.doubtnut.com/l/_LYYhFoyHls3P

Answer:

° Watch Video Solution

74. A game at a stall in Diwali fare involves using
a spinner first as a pre-cursor to complete the
game with certain rules. If the spinner stops at a
particular number, then the player is allowed to

roll a 6. faced unbiased die,



https://dl.doubtnut.com/l/_LYYhFoyHls3P
https://dl.doubtnut.com/l/_OVYP3m2MDrIP

If getting an even number on the spinner allows a
player to roll the die, then the probability of his

rolling the die is

S|~ Wk R R

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_OVYP3m2MDrIP

75. A game at a stall in Diwali fare involves using a
spinner first as a pre-cursor to complete the
game with certain rules. If the spinner stops at a
particular number, then the player is allowed to

roll a 6. faced unbiased die,

If getting a square number on the spinner allows
a player to'roll the die, then the probability of his

rolling the die is


https://dl.doubtnut.com/l/_9wIltIjirY44

Wl Wlmk = ] w

Answer:

° Watch Video Solution

76. A game at a stall in Diwali fare involves using a
spinner first as a pre-cursor to complete the

game with certain rules. If the spinner stops at a


https://dl.doubtnut.com/l/_9wIltIjirY44
https://dl.doubtnut.com/l/_8d3XSqMX4FJs

particular number, then the player is allowed to

roll a 6. faced unbiased die,

If the player is allowed to roll the die and getting
a prime number entitles him to get prize, then

the probability of his winning the prize is

o >
N = o = | w

N


https://dl.doubtnut.com/l/_8d3XSqMX4FJs

Answer:

° Watch Video Solution

77. Radio towers are typically tall structures
designed to support antennas for tele
communications and broadcasting, including
television. There are 2 main types: guyed and self-
supporting structures.

They are among the tallest human-made

structures. Masts are often named after the


https://dl.doubtnut.com/l/_8d3XSqMX4FJs
https://dl.doubtnut.com/l/_J8Fh9W8vUGXa

broadcasting organizations that originally built

them or currently use them.

On a similar concept, a radio - station tower was

built in two sections A and B. From a point 24 m


https://dl.doubtnut.com/l/_J8Fh9W8vUGXa

from the base of the tower, the angle of elevation
of the top of section A is 30° and the angle of

elevation of the top of section B is 45°).

The height of the section A is

A.13.84 m

B.14.6 m

C.16.7 m


https://dl.doubtnut.com/l/_J8Fh9W8vUGXa

D.345m

Answer:

° Watch Video Solution

78. Radio towers are typically tall structures
designed to support antennas for tele
communications and broadcasting, including
television. There are 2 main types: guyed and self-
supporting structures.

They are among the tallest human-made

structures. Masts are often named after the


https://dl.doubtnut.com/l/_J8Fh9W8vUGXa
https://dl.doubtnut.com/l/_Lu0EHIsSdDjW

broadcasting organizations that originally built

them or currently use them.

On a similar concept, a radio - station tower was
built in two sections A and B. From a point 24 m

from the base of the tower, the angle of elevation


https://dl.doubtnut.com/l/_Lu0EHIsSdDjW

of the top of section A is 30° and the angle of

elevation of the top of section B is 45°).

The height of the section B is

A.54 m

B.33m

C.616m


https://dl.doubtnut.com/l/_Lu0EHIsSdDjW

D.10.16 m

Answer:

° Watch Video Solution

79. Radio towers are typically tall structures
designed to support antennas for tele
communications and broadcasting, including
television. There are 2 main types: guyed and self-
supporting structures.

They are among the tallest human-made

structures. Masts are often named after the


https://dl.doubtnut.com/l/_Lu0EHIsSdDjW
https://dl.doubtnut.com/l/_p2VRoIBfJwOV

broadcasting organizations that originally built

them or currently use them.

On a similar concept, a radio - station tower was
built in two sections A and B. From a point 24 m

from the base of the tower, the angle of elevation


https://dl.doubtnut.com/l/_p2VRoIBfJwOV

of the top of section A is 30° and the angle of

elevation of the top of section B is 45°).

The height of the tower is

A 179 m

B.24 m

C.31.6m


https://dl.doubtnut.com/l/_p2VRoIBfJwOV

D.20m

Answer:

° Watch Video Solution

80. Radio towers are typically tall structures
designed to support antennas for tele
communications and broadcasting, including
television. There are 2 main types: guyed and self-
supporting structures.

They are among the tallest human-made

structures. Mosts are often named after the


https://dl.doubtnut.com/l/_p2VRoIBfJwOV
https://dl.doubtnut.com/l/_dxgUfB38WeWF

broadcasting organizations that originally built

them or currently use them.

On a similar concept, a radio - station tower was
built in two sections A and B. From a point 24 m

from the base of the tower, the angle of elevation


https://dl.doubtnut.com/l/_dxgUfB38WeWF

of the top of section A is 30° and the angle of

elevation of the top of section B is 45°).

On the basis of the above information, answer
any four of the following question:
The length of the wire structure from the point

to the top of section Ais

A.11.8 m


https://dl.doubtnut.com/l/_dxgUfB38WeWF

B.14.6 m

C.277 m

D.33.84 m

Answer:

° Watch Video Solution

81. Radio towers are typically tall structures
designed to support antennas for tele
communications and broadcasting, including
television. There are 2 main types: guyed and self-

supporting structures.


https://dl.doubtnut.com/l/_dxgUfB38WeWF
https://dl.doubtnut.com/l/_u3iPUJFvD0Zl

They are among the tallest human-made
structures. Masts are often named after the
broadcasting organizations that originally built

them or currently use them.

On a similar concept, a radio - station tower was


https://dl.doubtnut.com/l/_u3iPUJFvD0Zl

built in two sections A and B. From a point 24 m
from the base of the tower, the angle of elevation
of the top of section A is 30° and the angle of

elevation of the top of section B is 45°).

On the basis of the above information, answer
any four of the following question:
The length of the wire structure from the point o

to the top of section B is


https://dl.doubtnut.com/l/_u3iPUJFvD0Zl

A. 1.8 m

B.14.6 m

C.27.7 m

D.33.84 m

Answer:

° Watch Video Solution

82. Two unbiased coins are tossed . Find the
probability of getting : (i) two heads and (ii) at

least one head .

| = |


https://dl.doubtnut.com/l/_u3iPUJFvD0Zl
https://dl.doubtnut.com/l/_syX0WJL9FVAf

| & Watch Video Solution

8. If a, B are zeroes of the quadratic polynomial

p(z) =22° — Kz + 7 such that
1 23
a? + B — §aﬁ == Find the value of K.

° Watch Video Solution

84.Find a relation between x and y such that the
point (x, y) is equidistant from the point (3, 6)

and ( — 3, 4).

° Watch Video Solution



https://dl.doubtnut.com/l/_syX0WJL9FVAf
https://dl.doubtnut.com/l/_gZ8BruFBVI2o
https://dl.doubtnut.com/l/_IYAbnFRVnja3

85. Show that the points (4,2) , (7,5) and (9,7) are

collinear.

° Watch Video Solution

86. If the circumference of a circle increases from
4r to 8, then find the percentage increase in the

area of the circle.

° Watch Video Solution



https://dl.doubtnut.com/l/_IYAbnFRVnja3
https://dl.doubtnut.com/l/_LGt0GtDlGHGI
https://dl.doubtnut.com/l/_nF2RBnpGnVfC

p

2™5"

find

87.1f 0.3528 is expressed in the form of

the simallest values of m, n and p.

° Watch Video Solution

88. Using prime factorisation, find the LCM of 150

and 210.

o Watch Video Solution

89. Prove that /2 is an irrational number

‘ o Watch Video Solution


https://dl.doubtnut.com/l/_3Mhn2ypOJ7SU
https://dl.doubtnut.com/l/_38HeiILDnl8r
https://dl.doubtnut.com/l/_k3h2HGs4UHd8

90. Solve for x and y:

3z + 2y = 11,

2z + 3y = 4

° Watch Video Solution

91. Two poles of height 'a’ metres and 'b' meters
are 'p' meters apart. Prove that the height of the

point of intersection of the lines joining the top


https://dl.doubtnut.com/l/_k3h2HGs4UHd8
https://dl.doubtnut.com/l/_kZ5nzsb0YZTD
https://dl.doubtnut.com/l/_5LxBxAgwWXLU

of each pole to the foot of the opposite pole is

ab

a +

given by meters.

° Watch Video Solution

92. If two adjacent vertices of a parallelogram are
(3, 2) and (-1, 0) and the diagonals intersect at (2,
-5), then find the coordinates of the other two

vertices.

o Watch Video Solution



https://dl.doubtnut.com/l/_5LxBxAgwWXLU
https://dl.doubtnut.com/l/_OIB6D5mL36i9

93. In a circle of radius 7 cm , a chord makes an
angle of 60° at the centre of the circle . Find (a)
area of the circle (b) area of sector AOB and ( ¢)

area of minor segment APB.

(Take /3 = 1.73)

° Watch Video Solution



https://dl.doubtnut.com/l/_e3iksg4qWMFT

94. A solid wooden toy is in the shape of a right
circular cone mounted on a hemisphere. If the
radius of the hemisphere is 4.2 cm and the total
height of the toy is 10.2 cm, find the volume of

the wooden toy.

o Watch Video Solution

95. In Fig. 1013, XYand X 'Y 'are two parallel
tangents to a circle with centre O and another

tangent AB with point of contact C intersecting


https://dl.doubtnut.com/l/_e3iksg4qWMFT
https://dl.doubtnut.com/l/_xCL4mCAQp70d
https://dl.doubtnut.com/l/_QmwoGIkqdENA

XYat A and X'Y’at B. Prove that

ZAOB = 900

° Watch Video Solution

96. Find the zeroes of the polynomial p(x) =
4x* — Tx + 3 by factorising it and verify the

relationship between the zeroes and coefficients

of p(x) .

° Watch Video Solution

97. State and prove the Pythagoras theorem.


https://dl.doubtnut.com/l/_QmwoGIkqdENA
https://dl.doubtnut.com/l/_XRbMnapVnYcg
https://dl.doubtnut.com/l/_yQlfBdAy5kjN

o Watch Video Solution

98. If /B of DelatABC is an acute angle and
AD 1 BC; provet”(AC)"2 = (AB)*2 + (BC)"2 - 2

BC.CD

o Watch Video Solution

99. In a AABC, /B is an acute-angle and
AD 1 BC.Prove that:

AB? 4 CD? = AC? 4 BD?

o Watch Video Solution



https://dl.doubtnut.com/l/_yQlfBdAy5kjN
https://dl.doubtnut.com/l/_XsXo5OznENsM
https://dl.doubtnut.com/l/_UtkkTkKgftlW



https://dl.doubtnut.com/l/_UtkkTkKgftlW

